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Problem C. Numeric Center
Input: Standard

Output: Standard

Author(s): Hugo H. Morales, Sebastián Gómez and Santiago Gutierrez - UTP Colombia

A numeric center is a number that separates in a consecutive and positive integer number list (starting
at one) in two groups of consecutive and positive integer numbers, in which their sum is the same. The
first numeric center is number 6, which takes the list {1, 2, 3, 4, 5, 6, 7, 8} and produces two lists of
consecutive and positive integer numbers in which their sum (in this case 15) is the same. Those lists
are: {1, 2, 3, 4, 5} and {7, 8}. The second numeric center is 35, that takes the list {1, 2, 3, 4, . . . , 49}
and produces the following two lists: {1, 2, 3, 4, . . . , 34} and {36, 37, 38, 39, . . . , 49}, the sum of each
list is equal to 395.

The task consists in writing a program that calculates the total of numeric centers between 1 and n.

Input
The input consists of several test cases. There is only one line for each test case. This line contains a
positive integer number n (1 ≤ n ≤ 1014). The last test case is a value of n equal to zero, this test case
should not be processed.

Output
For each test case you have to print in one line, the number of numeric centers between 1 and n.

Example
Input Output
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